
Oscillations and Waves -Position from lebrity
worksheet

onsider the tollowininction of time O velocity

v(t) = 6m2-tTime is measured a seconds (s) and velocity in.

meters/Secand (m). However, we aren't going
to carry units around, so

vit) = 6t. = BEW, with the wits



Let's consider 15 time steps each of long
The midpoint times will be

0.2,0.6,1.0,000, 5.4,58
midpoint time midpoint time

ot 0.0 tood of 56 t06.0
Fill in this table
0?7 Nipaint tore dent is bat

0. 61.0 6.0

Youll be using

thes

8

2 5 . 2
2 7 .  6
3 0 .
3 2 ,  4
3 4 . 8



idpoint approximationdo we need to ply the theory hed thons

Step BeginTime
0 0 0
0 . 4
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